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An irrigation system company conducted a survey on the usage of different irrigation systems for a large number of farms. They
categorized the farms based on two factors:

&)
(i)

Usage of fertilizer (F): Yes (Y) or No (N},

Type of irrigation system (I): Drip (D), Sprinkler (S), or None (N)

Assuming fertiliser usage and irrigation system are independent events, the results are summarized in the probability tree below.

(a)
(b
(c)
(d)
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Irrigation
Drip (1 = D)
?
s / Irrigation
Fertilizer 0.35 :
Sprinkler
Yes (F =7Y) (i=§
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Irrigation
None (I = N)
Farms
2 Irrigation
Drip (I = D)
?
. / Irrigation
Fertilizer 0.65 Sprinkler
No (F =N
Irrigation
None (I = N)
Note: P(I =N)=0.13
P(An B) = P(A AND B) P(AUB)=P(A OR B)

Calculate the probability of P(1=D | F =Y)? (4%)

Calculate the probability of P(I=DNF=Y)U(F=NN1=8)? (4%)
Calculate the probability of P (I=N N F =N)? (4%)

Calculate the probability of P (I = D)? (4%)

Calculate the probability of P(F =Y | 1 = 8)? (4%)

—BRGEDEKRTREHGEE  FANEBRT 2R TBEAXFPRERT R - ERARHAFEE L RizsEm it
REEHEET - ERME T —F T BEBRME (soil moisture sensors)’ F—MEABI BHHUBERAESF 03K A=03)-
B ERE P RASTH (Poisson distribution) °

(a)
(®)
(c)
(d)

e
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HE-BARABESEAEET—R (n=1) HBREZZ V265
HE-ERUNBEEHRE—RRE (n>1) H#ELL P2(5D)
H20BERAE A FECEAHUMES R (n=5) HBEZ L D25
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A 100 BRI % - A ¥ BEMEF % (Normal approximation to Poisson distribution) 3t H 8 4§ 4 43318 40

R (n>40) HRER S V25 %)
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3.

R Rfoil —ER RGBT FF (population mean) p=50 FBER £ 2 (population stand deviation) 6=10 « 3+ & 5 18
BRRMAGTHEFTH 0% EHEM - (10 9)

TH 2,3 REBHTLEEHE M

N(Z>232) &=0.01, N(Z>2.05)=0.02, N(Z> 1.88)=0.03
N(Z>1.75) &=0.04, N(Z>1.64)=0.05  NZ> 1.44)=0.075,
N(Z>1.28)&=0.1, N@Z>104)=0.15, N(Z>0.84)=02,

TREAAIRBERETABREYE 4 F 2108k -

ALin=8]| 45 | 56 | 65 7.5 8.6 98 | 107 | 12 |mg%/ml
%% [n~8] 6 6.8 | 7.6 8 8.5 9 9.5 | 9.8 [mg¥/ml

() MEREUTRZBELTEE - (69)
(b) #HH(a) WEMHEMEZZHLSHELTREAE - (74)

ﬁ%wﬁiﬁﬁ%ﬁéﬁﬁéz%¥°n%@ﬁ&%ﬁ%ﬁﬁiﬁﬁﬂ*ﬁi%&%@@%mzﬁwﬁ%(4%@#
AT4,6,10,4:4 EHMB10,13,10,11: 4 €41 C: 4,10,5,9)

(8) AEFTIMHRZIFIEREFAHNGLIBERTERE - (79)

(b) FERHLAMETHE  TELALSD F B A £ Ra0fAHEd - 69)

TEELERERBSELE

e #x ¢ 05 10 15 20 25
mEEy 10 18 32 48 55 82

(@ HERERABERBBEUEFZAMNEGHERTZ © (69)
(b) HHEERFREBUREZHALATFIEX - (69)
() MAESTIMEAIFERTAHFERARTHEE - (6 )
(d) HEREABEREBKEZATAR - 62)

TH 4,5,6 AT 22 E R

F(0.05,8,8)=3.44, F(0.05,7,7)=3.79, F(0.05,3,8)=4.07, F(0.05,2,9)=4.26, F(0.05,2,3)=9.55, F(0.05,1,4)=7.71,
1(0.05,9)=1.83, 1(0.05,4)=2.13, 1(0.05/2,14)=2.14, t{0.05/2,10)=2.23, 1(0.05/2,9)=2.26, 1(0.05/2,7)=2.36, 1(0.05/2,4)=2.78
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